
Lecture 22 - Wednesday, March 29



Announcements

• Bonus Opportunity - Course Evaluation
• ProgTest1: Jackie (Office Hour)
• Assignment3 solution released, ProgTest2
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Lecture

Binary Search Tree (BST)

Implementing a Generic BST in Java
Searching



BST operations:
1. Input:a BSsearch

property

remainsit searching criticarompartin the5isit

putl
2.3 Deletion



BST Operation: Searching a Key
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Tracing: Searching through a BST

(28, “alan”)

(21, “mark”) (35, “tom”)
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Running Time: Search on a BST
ARevisit: given N nodes, N
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Binary Search: Non-Linear vs. Linear Structures
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Lecture

Binary Search Tree (BST)

Implementing a Generic BST in Java
Insertion



Visualizing BST Operation: Insertion

Insert Entry (28, “suyeon”)

Insert Entry (68, “yuna”)
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Lecture

Binary Search Tree (BST)

Implementing a Generic BST in Java
Deletion



Visualizing BST Operation: Deletion
Case 1: Delete Entry with Key 31

Case 2: Delete Entry with Key 80

Case 3: Delete Entry with Key 32
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